@D x®—4x-4 @ x?2-2x-2 ® x2-2x+14
@x2—4x+4 ® x*+4x+4

X +2xxx(=2)+ (-2)2 =x*—4x+4







3. (x+ta)x-4)=x*-pPPLd Y, a+b9F2?(Fb>0)

-6 @-s 02 (@s ® 16

B

(x+a)(x—4) =x*+ (a-4)x — 4a = x* - b*
a-4=0°B2 a=4

b?> =4a=16°122 b =4 (- b > 0)
“a+b=4+4=8




4. -3+ 3+ ) =t -s1elA [ ool gke 42

©-3 @3 ® 6 @ ® 18




il

5. (r-3) (x+ 1) O AANANA x 0] At 45 e




0]
)
O(3x+ 1)2 2(x+1)(x— 3) =7x> +10x + 7

o

+5)(2x = 7) = 6x% + 31x - 35

DO (x+3)2=x>+6x+9
1)\? 1
@ (s-3) —#-s+3

® Bx+1)2-2(x+1)(x- 3)
= (9x% + 6x + 1) — 2(x% — 2x - 3)
= (9x% + 6x + 1) — (2x® — 4x - 6)
= Tx% +10x+ 7

0 (o+1)o-3) =<

® (3x+5)(2x-17)
= 6x2 —21x+ 10x - 35
=6x2—11x-35




o] Zol7} 2x Q1 AAZ A 7t2et AlZo] do|2 747} 3, 4

3 el 7 ;
w2 5 o, A2 A7 A7) Yol

@ 4x% + Tx+ 7 @ 447 + Tx+12
@‘bfz +1dx 412 @ 2x% 4 7x + 12

® 2x%2 4+ 14x+ 12

(AAAE Hol) = (712) x (A=)
= (2x+3)(2x + 4)
=4x% + 14x + 12




8.

B

@—12 @ -6 ®1

(3x — 2y — 2)2 o] N2 A xy o] A2

@ 4

(3x—2y-72)2

oA 3x -2y = AR Z]35PH
(A-2)?

=A% -2:A4 7

= (3x—2y)% - 22(3x - 2y) + 2

A Ao A xy 9] ol HeEs A=
2% 3xX -2y = —12xy°| B2

xy 9] Alg= -120]t}.




(x + 2)(x 4+ 3)(x = 2)(x — 3) &] HAA A x* & AG-2} A

D -6 @ 6 @ 12 ® 18 ®)2s

(x+2)(x+3)(x=2)(x-3)
={(x+2)(x = 2)H(x + 3)(x - 3)}
=(x?-4)(x*-9)

=x*-13x%2 + 36

T —13436 =23




10.

D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)




11.

x4+y=5 x4y =13 4w, xy o] gk2?

® -6 @ -12 ® 4 @6

B

® 12

(x+3)% =2 + 2xy +y°
25 = 13 + 2xy

2xy = 12

Soxy==6




2
12. <5x— %y) < ZA7NotA ax? - 5xy + by? olth. oW, A<= a, bl

@5 @ 10 ® 25 @100 ® 125

1 1)? 1
(5x)? —2 X 5x x 3t (Ey) = 25x% — 5xy + ZyQ

a
T - =25x4=100
b




13. (x+y)% + (x—y)? & tds] AH2lotH?

@D x? +y? @ x? 4 2xy +y?
G?D)Qx2 +2y? @ 2x% + xy + 2y?

® 2x? + 2xy + 2y?

(% + 2xy + y?) + (5 = 2xy + y?) = 2x% 4 2y?




14, 27014 7452 the 173} o] 3 2] 1017} sxm 9 HAZ B
= 7t29] dol= ym(3x > y) EolaL, Al=9] Zoli= ym EA]

O
=
A2 BE WEY|2 sk, 2] Yol

_-=3T-~ Y.

v -~ v |
" N ~N—
3r| v +~ ~
1
\ Y
/

@© 9x2 + 6xy + y*(m?) @ 9x2 - 6xy + y*(m?)
® 65 - *(m?) @92 - y2(m?)

® 9x% +y*(m?)

F00] 712.9] Aol gx-4y(m), M) Zol 3x—y(m)
. wFebA] sk o] ol (3x +y)(3x—y) = 0a? -
y*(m?) ot




15. B4 AL 0 85t0] (x+a)(x+5) & AT A10] x2 4 bx—15 o]},
o] gh= At = F-5tofzt.

o
£ o
o
-+
2

ol

>
| =
> A a=-3
> HED b=2

(x+a)(x+5)=x*>+ (a+5)x+5a 7t x> + bx— 15 0| &
a+5=b,5a=-15°|t},
Tt a=-3, -3+5=b, b=2 0|t}




16.

® (x? - 8x+ 15)m?

(x=1)m, M2 dol= (x—3)m ©|th

7f2e] ol
) = (x% - 4x + 3) m?

(x=1)(x-3




17. (x-2)(x+k)=x*+ax+b €, 2a+b O] 27

@ 2 @+ o0 @s ® 10

(x=2)(x+k)=x>+ (-2+k)x—2k=x*+ax+b
a=k-2,b=—2%
©2a+b=2(k-2)+ (~2k) = 2%k —4— 2% = —4




18.

%(2x—y)(3x+2y)—g(x—Qy)(4x+3y) o] AMAONA xy 0] AL

23 47
o> o3 o0z @F os

L (2r-)(35-+29) 91 (9 91 A)= S((-1)x3+2x2) = ol

- (e-29) (4r+3) 91 (o 91 A= (-2 xa+1x3) = 2
o,

web Fol2 A9 xy o] ASE 1 + = ¢ ol

Wl




19. (2x-1)(2x+A) = (-2x+2)2+ Bx € @, A- B 9] gt2?

-1 @-2 o0 @ 2 ® 4

(2x-1)(2x +A) = (-2x + 2)? + Bx

4x%2 —2x+2Ax — A = 4x%> —8x+ 4 + Bx

x  AGIt R FOoBR 2424 = -8+ B, F5-To] A=
ZoBg _A =40},

watA A = -4, B=-2°|22 A-B= -2 o|t}.




20. The T AAG T Yol

=TT -~
\
\
1
4x
2 /
@ 28x2 +22x+4 @ 28x2-12x+4
@28x2—22x+4 @ 10x2-22x+4

® 11x2-12x-4

Hol 7129 Aol 7x—2, A2 2] Aol 4x—2 0|},
A5 B H9] Yol=

(Tx—2)(4x—2) = 28x2 - 22x + 4

-




21.

N

N

S
N

‘I_

rr
ofl co L?IE,
Erﬂﬂ

#0 ol [

Al
Al

4

ki pu

=

i
s

=

Moy O
2 O do

i)
5
rr
B

ol 1 7ha &t o] m,

_—=TT=~__ -3~

—J

D 20x2-5x-3
@28)62 +5x-3

@ 20x*-5x+3

® 28x> +5x+3

, MR ] Aol7} 7x , 4x 1 ZAMF A oA 712 9]

EEL!

® 20x% +5x-3

(Ho))= (7Tx+3)(4x—1) = 28x% + 5x -3




22, x-D(x-2)(x+2)(x+3) = Ax* + Bx* + Cx> + Dx + E & T,
A+ B+ C+ D+ E®| = Fstofzt,

> E:

> Het: o

B

(x=1)(x=2)(x+2)(x+ 3)

— {(r= D)+ 2H(x - 2)(x +3))
=(x?+x-2)(x>+x-6)

= (x> +x)2 —8(x2 +x) + 12
=xt42x3 - 742 -8x+12
ZA+B+C+D+E=1+2-7-8+12=00]c}.




23. (a+b)(a-b)=a*-b* = ol-&5tq Axtstr] 7 Lot

@® 1982 @ 1012 @ 47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 - 2)2

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)




24. x+y=3, xy=—-4L 0, x®+y?—xy 9 72?7

O 18 @ 19 @ 20 @21

® 22

2 —xy+y* =(x+y)%-3xy
=32-3x(-4)
—21




25. x o T o] AHAIS 2x+ 5 2 LHR Fo] 3x 4+ 4 o] 3, A 1

@D 3x2+12x+1 @ 3x2+12x+11
® 6x% +23x+20 @ 6x2 4 27x+ 20

@ 6x2 + 23x + 21

X (%) + (HHA]) o] B2
(3x+4)+1 =6x2+23x+21




